HIOKI

SW9001
SW9002
NIWFTLIV9YEY 21—
MULTIPLEXER MODULE
ERkERBAE | Instruction Manual
JAJEN

*6 00510250 *

June 2018 Edition 1
SW9001A960-00 18-06H

HIOKI

www.hioki.co.jp/
At T386-1192 RHIE FHM/IR 81

HROEEWADE
25.0120-72-0560 9100~ 12:00, 13:00~ 17:00

TEL 0268-28-0560 FAX 0268-28-0569  info@hioki.co.jp

R - REOEHWEDLE o
THBERAELE (REE) £LEREDOEENSET gé?
BEWELEEFY—EXBOEXT :
TEL 0268-28-1688  cs-info@nhioki.co.jp

RE - %7 BEBRGERRU

- CEMABEESREMH HP 15y IV O—RTEXT,
CABORHNBETFEBEET B ENBDET,

- ABICBEEMFECL DRI NBZRELEENET,

- REOHREEM TEHL - BR - WEIBIEERIELET,
CABLRHSNTVIRUE - BREHLEEF. SHOBERRBRBEIETT,

1801JA

Printed in Japan

REE®

iz BEHFS FRALHARE
AR F B&L3FEME

2

HIOKI

AERIE, BHOMBLBREZR CERUHRBZEREITI LY T,
F—ERPICHENRE UBEE. RBVRDEICTER LSV, ABOTHARRT
EEEEEZ I CWEEET, Fio, FRAEPHEBABLD 3EBTY, BABADTHOD
BER. WRoRERANS 3EMEERELET., TEBORIE. AEEZRTL TSI,
Ffe, BEILODWTE, BRSNEERIEHEICEDEY,
— BB
SHEFT T
SHA
* BRERAOBEN
© REAEFOBRTIEWVLERADT, KUICEELTLLRE L,
M. WEES. BAH SLUBEK "SEMR. SFR @RNADXITH. $EK
[CTRALTW e EE T LSBEVNWLET,

1. BURESASE - AEEFRINL FHEE0) FOERFEICH > CIEBBERIRE TRIE
HERICKELSEICE. BEEBVNLEY, e, BROERICK 2BROMHE
BRIEFL T, BHEROL. BASEITOMBELSETVWLLEERT, BH, BER
—EHEERELCRR, BLOMROEERIE, FUOEEOREZFICL DEERAEL
BolcHlRIE, BE REEEZFHRY BHANTEVNET,

2. RALEABATEH, ROBEIIMRIEONRIIESETWLIEEERT,

-1, BRZEEAULCERECZBAUENO RN, ZROREBG. #F

HWRPOAE/RVEI ST ZRM, ZRNRIEG. KE

EURFAE ICEDNBRVWRNEH BRI RV, K3 ERIC L 2HE

PR DU £ BBV LS IC L 2 HER & RS

ERFAE ICARS NI DESOEMDIHEFE

HEWETROEX, FETEICLIHES L VES

NEEDEL (ERRDFI%)

AP BKE, MR RE. BIRER (BE. AREF). BF - RBTH. BEESR

BLUZDOMRKMEFORTRAIC & BHES L CIEEG

9. Xy hT—UERICLBIRE

-10. REEB DR ENEWES

-11. Z DI DOFE & AR S NBRVEE

-12. 50 R (FHAKES. MERKER. RFHRRS. ERCBLERARRE LV
HMGEKERS) ICHEMAATERYT ZHA T, f1d > TZOEZBRVLLEABWVESR

3. KMFEBFEAENOHEMTY, (This warranty is valid only in Japan.)
HY—E R

£AH J—CANE HESE#4FES
+386-1192 RS LAHIR 81 (==

TEL 0268-28-0555
FAX 0268-28-0559

R R N

16-09 JA

FU&IC

Z D&, HIOKI SW9001, SW9002 YILF 7LV HEY 12—
L. A8 ZSBEEWLLEE, RicHDOMNESTVWET, &
DEFZTRCTTFRWELEEZ, KRS SERW LS EHICH,
BURSEAZ I T W WTIRLY, KYIICEREL TR E W,

R

ABHPBFTICESELS, BRPICEVTREXIIBEIG
WARIRL TH S SEA T W, T—. BBH 2 WIHREBD
BELEVSAIE. BB LE (REE) MBS D OEEILSIC K
<IEE W,

9V==>7
FBRO/RILOFENZ EBEE G FENMWHICKDRIEREAIZE D

EEFE T B<HWTL LTV, BIBERICEhEVWTIZE
(A

E-oT& =3
WMEEBbN2EEF. RELE (REE) NEFDOEENSICHE
EWEhtE<rEan,

KEZEXT BFIE. BEILCESDORIMDRETY, HBIH
FFREBBRELTILE L,

S

AZRIE. SW1001, SW1002 XA wF XA Y7L —LB®D, AES
AVEYDEZZDIENTEDZEY21—ILTY, EHDEZF v X
BIEZEEUH, WBWBRAIEICERTEET,

AAYFAAY T L—LICRHET 2BIKGBAEZ CEICKR > TH
5, K&BRZHFEAHL T EEW,

{1k

HEMARARE. AAMYFAA YT L—ALICHET ZEIRGHAER &
BfEEW,

| SW9001 | SW9002
L 2R | AT
BERAR F—XF27UL—
) 22F v %)L (28)
FrRLE 5o () 6F v xl
5ms (A—7>) /5ms (/EO—X)
Al BB, N Y RBERE R <
RAFBEE DC 60V, AC 30 V rms, 42.4 V peak
V—2R
SAZAET | DC1A AC1TAMSs 12335A02Am“
DC1A AC1Arms
e R R A TE
gl DC 60 V

#&f 0 5000 AME

EEER 30V BREMAH mEn 5000 5[E

(Z%E18) (12pF +60 Q. £—
4500 mA) : 1000 A[E]

B ikt

5 PR ST HARS 3EH

JL—, Ea—X, ORI 5— {REEERHN

FHBOWDOMFERMDOHAL

BEIT3H0: 7SARS1/8— (No.2). HEIEFE
B8k M=
= =

s RRBEEWEBITDIEHD. MTRAAYFAA VT L—LA
DERZYID, IXRTOAET—T I, #EHT—7 ).
BLUCEBEREI—RZALTHS, KEFOED T =E
FEIEEDALZ LTSS,

¢ AAYFAA YT L—LDERNA > ZIRETAKES

o EFROMITZE, REBELEDY L —ERRENRE L
Bh, AERRZEKITDEENLHDET, T,
AAYFAA YT L—LFIEERBHIREL THE
WRZFEHELED, AER/NMKEL D THHBEH
HNDET,

HXD {313

1 R4y FAX1YTL—L
DEFEEYS

2 RAYFALYTL—LA
EERBICERINLTWS
T—TIEETRTHT
(BRBH & CUENROER

EBHILT B 726h)
= i 3 2&0nl (M3 x 6 mm)
O o— S —
© (M mm) EEHTT SV TR
B ERO AT
T 3 75U RFILERLER
PICRELTRE W,

O ABEROHLTAS Y F

XAV T L—L%EERIT D
BRICHETT,

KBEAAYFAALVT
L—LODBETELRAD

AARL—=ILIcELES

=

— 5 2xoniampcrE
SR EEEY S

@!.

—

/N\iE B
AREBRZRDMFEODERDODALIEDTZEEZFE. RO
EEBTFD LSV,

e AAYFAA YT L—LDGNDIHFEHRFTH>T
HESIEHNEBEL LS, TEHIEFRZFERL TE
ELTLES W,

s RBOWREIWAZEF > TLEE W, BIRERICFTE
BN EBEIOFETHELLD., JIERRI
SIEMOEE. FOREBREICKIDERENKEL L
D IB38EFNLHDET,

AAYFRALTL—L4A
DERZYS
AAYFRAALYTL—L4A
ERBILERINLTVWS
T—7INEEZIRTHNT
(REHL L CHENROIEHE
ZRHIES 272 6)

2EKDRUZEDH D

KBEEAAYFAAVT
L—Lh 55| Ek<

== 5 J5vonrzLERDH
@l —1tlx2
(M3x6 mm) 7. 28D L (M3 x 6
mm) D TEABEEE
—JIvy
J A1V 93



HIOKI

SW9001
SW9002

MULTIPLEXER MODULE

Instruction Manual
EN

June 2018 Edition 1
SW9001A960-00 18-06H

HIOKI

http:/www.hioki.com

HEADQUARTERS
81 Koizumi
Ueda, Nagano 386-1192 Japan

Our regional
contact
information

HIOKI EUROPE GmbH
Rudolf-Diesel-Strasse 5
65760 Eschborn, Germany
hioki@hioki.eu

1804EN
Printed in Japan

Edited and published by HIOKI E.E. CORPORATION

+CE declarations of conformity can be downloaded from our website.

+Contents subject to change without notice.

*This document contains copyrighted content.

+It is prohibited to copy, reproduce, or modify the content of this document without permission.

+Company names, product names, etc. mentioned in this document are trademarks or
registered trademarks of their respective companies.

Warranty Certificate HIOKI

Model Serial No. Warranty period

Three (3) years from date of purchase (___/__ )

This product passed a rigorous inspection process at Hioki before being shipped.

In the unlikely event that you experience an issue during use, please contact the
distributor from which you purchased the product, which will be repaired free of charge
subject to the provisions of this Warranty Certificate. This warranty is valid for a period of
three (3) years from the date of purchase. If the date of purchase is unknown, the
warranty is considered valid for a period of three (3) years from the product’s date of
manufacture. Please present this Warranty Certificate when contacting the distributor.
Accuracy is guaranteed for the duration of the separately indicated guaranteed accuracy
period.

1. Malfunctions occurring during the warranty period under conditions of normal use in
conformity with the Instruction Manual, product labeling (including stamped
markings), and other precautionary information will be repaired free of charge, up to
the original purchase price. Hioki reserves the right to decline to offer repair,
calibration, and other services for reasons that include, but are not limited to, passage
of time since the product’s manufacture, discontinuation of production of parts, or
unforeseen circumstances.

. Malfunctions that are determined by Hioki to have occurred under one or more of the
following conditions are considered to be outside the scope of warranty coverage,
even if the event in question occurs during the warranty period:

a. Damage to objects under measurement or other secondary or tertiary damage
caused by use of the product or its measurement results

b. Malfunctions caused by improper handling or use of the product in a manner that
does not conform with the provisions of the Instruction Manual

c. Malfunctions or damage caused by repair, adjustment, or modification of the
product by a company, organization, or individual not approved by Hioki

d. Consumption of product parts, including as described in the Instruction Manual

. Malfunctions or damage caused by transport, dropping, or other handling of the
product after purchase

f. Changes in the product’s appearance (scratches on its enclosure, etc.)

g. Malfunctions or damage caused by fire, wind or flood damage, earthquakes,
lightning, power supply anomalies (including voltage, frequency, etc.), war or civil
disturbances, radioactive contamination, or other acts of God

. Damage caused by connecting the product to a network

. Failure to present this Warranty Certificate

j. Failure to notify Hioki in advance if used in special embedded applications (space

equipment, aviation equipment, nuclear power equipment, life-critical medical
equipment or vehicle control equipment, etc.)

k. Other malfunctions for which Hioki is not deemed to be responsible

N

®

M

*Requests
« Hioki is not able to reissue this Warranty Certificate, so please store it carefully.

« Please fill in the model, serial number, and date of purchase on this form. 16-01 EN

Introduction

Thank you for purchasing the Hioki SW9001, SW9002 Multiplexer
Module (hereafter referred to as simply “device”). To obtain maximum
performance from the device over the long term, be sure to read this
manual carefully and keep it handy for future reference.

Inspection

When you receive the device, inspect it carefully to ensure that no
damage occurred during shipping. If damage is evident, or if it fails
to operate according to the specifications, contact your authorized
Hioki distributor or reseller.

Cleaning

To clean the panel of the device, wipe it gently with a soft cloth
moistened with water or mild detergent. Do not touch the circuit
board.

Trouble shooting

If the device seems to be malfunctioning, contact your authorized
Hioki distributor or reseller.

Store the packaging in which the device was delivered, as you will
need it when transporting the device.

Overview

This device is a module that allows the SW1001 and SW1002 Switch
Mainframe to switch between measurement lines. It can be used in
a variety of measurement applications, for example in multichannel
measurement of batteries.

Review the user manual that came with the Switch Mainframe before
using this device.

Specifications

For more detailed specifications, see the instruction manual that
came with the Switch Mainframe.

SW9001 SW9002

Connection

method 2-wire/4-wire

4-terminal pair/2-wire

Contact system Armature relay

Number of 22 channels (2-wire) 6 channels
channels 11 channels (4-wire)

Opening/closing 5 ms (open)/5 ms (close) except for the
time control time and contact bounce time
Maximum

60 V DC, 30 Vrms AC, 42.4 V peak
allowable voltage

SOURCE:
Maximum 2ADC,2ArmsAC
allowable current 1ADC, 1Arms AC SENSE:

1ADC,1ArmsAC

Maximum rated

voltage to earth 60V DC

No load: 50 million
cycles
30 V capacitive load
(1.2 yF + 60 Q, Peak
500 mA): 10 million
cycles

No load: 50 million
cycles

Contact lifetime
(reference value)

HIOKI E.E. CORPORATION

81 Koizumi, Ueda, Nagano 386-1192, Japan
TEL: +81-268-28-0555
FAX:+81-268-28-0559

Accessory Instruction manual

Product warranty
period

3 years
(except for the relays, fuses, and connector)

Installing or Removing the Device

Required items: Phillips screwdriver (No. 2), antistatic gloves

/\ WARNING

 To prevent an electric shock, before removing

or replacing the device, confirm that the Switch
Mainframe is turned off and that all the measurement
cables, connection cables, and the power cord are
disconnected.

© - Installing a device while the Switch Mainframe is
turned on may prevent detection of the contact state
of relays on the device or result in short-circuiting
of the measuring object. Damage of the Switch
Mainframe or device may cause the measuring object
to be shorted or the instrument to fail.

Installing

1  Turn off the Switch
Mainframe.

2 Remove all the
measurement cables
connected to the Switch
Mainframe and device.

(to prevent electric shock and
short-circuit of the measuring

object).
? s 2 3 Loosen the two screws
9 jo— Screw x
(M3x6 mm) (M3 x 6 mm) and then

remove the blank panel.

~— Blank panel Store the blank panel and

screws.
You need the screws when
= using the Switch Mainframe

after removing the device.

Insert the device to
the back of the Switch
Mainframe.

5 Tighten and secure the
two screws.

/\ CAUTION

When installing or removing the device, be sure to

observe the following precautions:

» Touch the GND terminal of the Switch Mainframe with
your hand to release static and then use antistatic
gloves to perform procedures.

@ - Hold the sheet metal area of the device. Directly
touching the board with your hand may damage the
circuit board due to static. If the measurement target
has high resistance, the error component due to
factors such as oil from your fingers may increase in
magnitude.

Removing

1 Turn off the Switch
Mainframe.

2 Remove all the
measurement cables
connected to the Switch
Mainframe and device.

(to prevent electric shock and
short-circuit of the measuring

object).
-
'%*1 3 Loosen the two screws.
@’- Screw x2
@

4 Pull out the device from
the Switch Mainframe.

5 Attach the blank panel
and tighten the two
screws (M3 x 6 mm) to
secure the panel.

=
(@— Screw x2
(M3x6 mm)

e— Blank panel

—





